

Apartment in San Gwann



San Gwann, Sliema and St Julians Surroundings



€235,000

Reference No: 240461048-526

 Total Rooms: 4

 Floor Area (m²) : 57

 Bathrooms: 1

 Bedrooms: 1

Apartment - For Sale - San Gwann

San Gwann - Apartment - This apartment, conveniently located near all amenities, features an open-plan kitchen, living, and dining area. It comprises of 1 bedroom, a study and a bathroom, along with a balcony. The property is being sold in shell form and it's freehold, with completion expected by mid-2026. For viewings or additional information, please contact your preferred property consultant.

Features

- ✓ Lift
- ✓ Balcony

Rooms

- ✓ Kitchen/Living/Dining : 5.09 x 3.6 m (18.32 m²)
- ✓ Office / Study : 3 x 2.91 m (8.73 m²)
- ✓ Double Bedroom : 3.03 x 2.5 m (7.57 m²)
- ✓ Hallway : 7 x 1.01 m (7.07 m²)
- ✓ Bathroom : 2.19 x 1.5 m (3.29 m²)
- ✓ Open Space : 2 x 1 m (2 m²)

Gallery





Josianne Camilleri

RE/MAX Professionals - Mosta

M: 79050767

E: jcamilleri@remax.com.mt

T: 27998977

RE/MAX Professionals - Mosta

24, Vjal L-Indipendenza, Mosta, Malta